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39- Did the man ask him........... he wanted to go there by
air or by bus?
1) that 2) what
3) which 4) whether

40- The teacher put the figures on blackboard and

1) picked it up 2) picked up it

3) added them up 4) added up it
41- ........ aknife, she cut her finger.

1) Used 2) Using

3) By use 4) To use
42-Do you know his address?

No, but | can tell you........

1) where finding him 2) finding him

3) how to find him 4) find him

43- Thejanitor said that he....... the front door very soon.

1) will lock 2) would lock

3) has locked 4) had locked
44- Did you see the boy..... by the police?

1) arresting 2) arrest

3) arrested 4) to arrest

45- Some people of the south moveto a cooler....... region
of the north duting summer.

1) corner 2) cliff

3) corridor 4) climate
46- | liked the place. | found the people, the weather and
thefood very.......

1) comfortable 2) agreeable

3) interested 4) excited
47- When we look at the moon, the light we seg, isthe......
of thesun’slight.

1) shade 2) reflection

3) shadow 4) mention
48- Many scientists believe that we shall find proof of
the..... of someform of life on another planet.

1) interference 2) existence

3) patience 4) importance
49- He can't find his school bag. It...... stolen.

1) must have 2) might have

3) must have been 4) should have been
50- | would have goneto play tennisif the weather weren’t

so cold. A B c

D
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3)C
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